| NUEVA ECLJA Il ELECTRIC

¥ P e, N EECO II COOPERATIVE, INC. — AREA |
f f( _ ‘}‘} Calipahan, Talavera, Nueva Ecija
~EBY [emnnent) 1 Tel./Fax: (044) 411-1007; 958-0260

M ! » A REA 1 Email: neecoZl areallyahoo.com.ph
. R ”
A‘" 2 { Website: www.neecoZareal.com

\e#

NEECO II-AREA 1’s Invitation for Bid No. NE-II-A1-2022-S05

Reference with Board Resolution No. 03-12-22, Series of 2022, the Nueva Ecija II
Electric Cooperative- Area 1 (NEECO II-Area 1) invites sealed Bids from eligible
contractors for:

SUPPLY OF LABOR AND MATERIALS FOR THE INSTALLATION OF EXTENSION LINE
FOR THE THREE (3) PHASE POWER SUPPLY IN BF3 LOCATED AT BRGY. BUTED,
TALUGTUG, NUEVA ECIJA

Interested bidders must be previously accredited and/or for those interested bidders who
may want to participate can be accredited upon completion of Accreditation requirements
and full payment of non-refundable accreditation fee of Php5,000.00 which is valid for one
(1) year. Accreditation requirements can be requested to this email:
bac_neeco2areal@yahoo.com.ph

Accredited Bidders must use the attached form in a separate sheet of paper with company
header and signature of authorized representative and submit/email it to the Bids and
Awards Committee on or before March 14, 2022 5:00pm. Bids shall be addressed to the
BAC Chairman:

Mr. Lorenzo Valino Jr.

BAC Chairman

Nueva Ecija II Electric Cooperative, Inc.-Area 1
Calipahan, Talavera, Nueva Ecija

For further inquiries, please contact Ms. Set Pauline M. Feliciano at (044) 411-1007 local
110 or email at bac_neeco2areal(@yahoo.com.ph

NEECO II-AREA1 hereby reserves the right to reject any or all bids, to waive any formality
or technicality defects therein, and accept the bid that is most advantageous to the NEECO
Il AREA-1, and to annul the bidding process and not award the contract at any time prior
to contract award without incurring any liability to any bidder or party.

Finally, NEECO II —AREA 1 assumes no obligation to compensate any bidder or any party
for any loss or expense incurred in the preparation of the bid or participation in the




3 ~ieIoL 9051 THVIS ON18eus 895
xajdang ol ]
PG| 4l | -ra W Mg = Wo-a|0 980T91L

a4 -y ] M tiojoL 35Bldt 205
HEOV 0 -1y W Ml g E FRID UL Z |0
SOV [4SOV|[S05L o -1y 0L-SW[E ] 14| b Z-13[1 VIL-ZW|E 2001 [oor [zr aseud-L |0 T

BO02|  NvnD olopBaodo] 3000 | o Baoolo 2 |NvnD J3aoo] © 3d02] NvNO | 3000 [© | 3000 [o | 3a00 |o | 3doo | o 3002 | o [3a0o0]© NYND
z
£
t
Z-13[1 Z-13[L YIL-ZN|L O olor [V g |zv L
vio[L  Jolov |V [e [ss 0l
vio[L [olor [+ [e [Pt 6 5
viofL  [olor [1 [ |ve 8
vio|L  [olor |1 e |&p L 9
vio[L  [ofor [t e [Z5 9
VILZN[L w101 fojor |1 [€ |25 S
L
v1iofL [olor 1 [e |ee [
vio[t  [olor [v [ [e¢ € 8
vio[L  fofor [T [€ (oo z
violL  olov [V [ [av L 6
370d ONIddv1 0L-SW|E VIL-ZN| I 801 [ofor [v 9801971
ONIJOD ¥ILNdWOD O [oj00ofo] 3002 [ © Baoolo O [NvnD [3a00] © 3000[ NYND 3000[ O 3000[ O 3002 | ©l3aoo| ]2 | Nvno
SHYYINIY s | ¥ W e jO13ZIS (O I'sHIN] W [ © [3zIS| '8N | SHIW wdu W =N ., W 3 (oav) [of + 'SHLIW o1
¥0 'ON NV N L1INN Nlzm | N | doxa Nol3um| vo NYdS a HIWHOA 13 1INN NYdS ‘ON
JNVYN H3EW3W o | mu ‘OSIN 03s “ONY 3| Ano ‘ane SNwil BN dol3tod | 3704 Move 310d
2 ERINEES AUvVA003s 3 NS T ‘Iud 1T
& 0 wea 133HS ONDIVIS Nv1d 8V SYETET oF NVdS SNIINg !
YI1O3 VAINN "ONLONTVL INOIOVIEOd 1V NOILVHOJHN0S TYWINY OJIWTId 30 A1ddns S3Mod 10 NOILVTIV.LSNI INM| YSOV /9™ O/t # HSOY ‘ONOD TYHLNAN i
g nuj @y #qpessapy NOILVISENS ovan NOILYLSENS| NSOV /9™ 0/ # 4SOV ‘ONOD AMVINING T ‘oNiesys seg
© e s jay depy
WIS SIS ORI WE RS T &fiog enenyy 'esensie) ‘ueyedyen
S—-— PR T oneaus "ONI "SALLYY3400D DIN1D3T3 Il VIIDT YAINN L33HS ONINVLS HOLl3Ms
[ oNebed (o) oN big




PROJECT DESCRIPTION: BILL OF MATERIALS FOR THE INSTALLATION OF POWER SUPPLY OF PILMICO
ANIMAL CORPORATION AT POBLACION |, TALUGTUG, NUEVA ECIJA (TLG1086)

3Phase = 0.502 Km.
PROJECT
DESCRIPTION REQ'MNTS.
Anchor, Expanding, 8,000 Pounds, 4 Way, Galvanized Steel 1 piece
Bolt, thimble eye 5/8x12" (angle type) 1 piece
Bolt, Carriage 3/8" X 4-1/2" 6 pieces
Bolt, Double Arming, 5/8" X 24" 8 pieces
Bolt, Oval Eye, 5/8" X 12" 2 pieces
Bolt, Oval Eye, 5/8" X 18" 2 pieces
Bolt, Machine, 1/2" X 6" 14 pieces
Bolt, Machine, 1/2" X 12" 12 pieces
Bolt, Machine, 5/8" X 12" 1 piece
Bolt, Machine, 5/8" X 14" 12 pieces
Bolt, Single Upset, 5/8" X 12" 10 pieces
Brace, Crossarm, 28", Steel 6 each
Brace, Crossarm, 60" - 18" Drop 2 pairs
Brace, Sidearm, Diagonal, 7 Feet 10 pieces
Clamp, Anchor Bonding, Single Eye Rod 1 piece
Clamp, Loop Deadend, #1/0 ACSR 6 pieces
Clamp, Deadend Strain, #1/0 ACSR 9 pieces
Clamp, Guy Straight, 3 Bolt, Heavy Duty Steel 2 pieces
Clevis, Secondary Swinging Without Spool 3 pieces
Cut Out 100A,15KV 3 pieces
Shackle, Anchor, Forged Steel, Galvanized 2 pieces

Conductor, Bare, ACSR #1/0, AWG 6/1 2,309 meters

Connector, Compression, yho 150 10 pieces
Connector, Ground Rod (Clamp) For 5/8" Steel Rod 3 pieces
Pin, Crossarm, Steel, 5/8" X 10-3/4" 36 pieces
Insulator, Pin Type, Polyehtylene 36 pieces
Insulator, Spool, 3", ANSI, Class 53 - 4 13 pieces
Insulator, Suspension, Polymer 9 pieces
Lightning Arrester ,10kv Rating (Ohio Brass Type) 3 pieces
Link, Fuse, 50 Amp 3 pieces
Nut, Eye, 5/8", Conventional 10 pieces
Rod, Anchor, Threaded, Single Eye, 5/8" X 7' 1 piece
Rod, Ground Steel, Galvanized, 5/8" X 10' 3 pieces
Washer, Square, Flat, 2-1/4" X 2-1/4" X 3/16", 13/16" Diameter Hole 71 pieces
Washer, Round, 1-3/8" Diameter With 9/16" Diameter Hole 36 pieces
Wire, Tie, Aluminum Alloy, Soft, #4 AWG 350 feet
Wire, Grounding, Aluminum Alloy, 3 Strand, #4 AWG 141 feet
Wire, Guy, Steel, 3/8", 7 Strand 50 feet
CONCRETE/STEEL MATERIAL

Pole, Concrete, 40' 12 pieces
Crossarm, Steel, &' 15 pieces

Summary of Bid Proposal

Total Material Cost R
Total Labor Cost R

TOTAL P -

Name of Bidder



BUSINESS NAME:
ADDRESS:

CONTACT NO.:
PROPRIETOR/:

DATE:

TIN# NON-VAT:

TIN # VAT REGISTERED:

PAYEE OR COMPANY NAME (for check
preparation)

NO. PARTICULARS

1 SUPPLY OF LABOR AND MATERIALS FOR THE INSTALLATION OF EXTENSION LINE FOR THE THREE
(3) PHASE POWER SUPPLY IN BF3 LOCATED AT BRGY. BUTED, TALUGTUG, NUEVA ECIJA

Total Material Cost

Total Labor Cost

Grand Total

Terms of Payment

Completion Schedule (Specify if
Working/Calendar Day)

Bid Validity

Warranty

Other terms

Note: Bidders will attach the Bill of Materials and Work Schedule as part of their bid proposal.

NAME AND SIGNATURE OF
PROPRIETOR/AUTHORIZED REPRESENTATIVE




